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QUESTION 1

A coercion dot indicates that:

A. The data types are consistent

B. A polymorphic operation will be performed on the data

C. A data buffer is created to handle data conversion

D. Data values are being coerced because they are out of range

Correct Answer: C

QUESTION 2
The SubVIl is opened and then run three times.

What is the value of Sum when the VI completes execution?

A. Indeterminate

D. 10

Correct Answer: B

QUESTION 3

Which of the following statements is NOT valid?
A. You can make a Cluster of Clusters.

B. You can make an Array of Arrays.

C. You can make a Cluster of Arrays.
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D. You can make an Array of Clusters.

Correct Answer: B

QUESTION 4
Which combination of words correctly completes the following statement?

Unlike , which display an entire waveform that overwrites the data already stored, update
periodically and maintain a history of the data previously stored.

A. Graphs; Charts
B. Charts; Plots
C. Plots; Graphs
D. C harts; Graphs

Correct Answer: A

QUESTION 5

Which of the following terminals controls how many times a For loop executes?
A

B @

G |

D

]

A. Option A
B. Option B
C. Option C
D. Option D

Correct Answer: D
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